



Faber Polynomial Expansion for a New Subclass of Bi-univalent Functions Endowed with (p, q) Calculus Operators

Om P. Ahuja¹ and Asena Çetinkaya^{2*}

¹Department of Mathematical Sciences, Kent State University, Ohio, 44021, U.S.A

²Department of Mathematics and Computer Sciences, Istanbul Kültür University, Istanbul, Turkey

*Corresponding author

Article Info

Keywords: Bi-univalent functions, Faber polynomial expansion, (p, q) -calculus

2010 AMS: 30C45, 30C80, 05A30

Received: 25 November 2020

Accepted: 30 January 2021

Available online: 31 January 2021

Abstract

In this paper, we use the Faber polynomial expansion techniques to get the general Taylor-Maclaurin coefficient estimates for $|a_n|$, ($n \geq 4$) of a generalized class of bi-univalent functions by means of (p, q) -calculus, which was introduced by Chakrabarti and Jaganathan. For functions in such a class, we get the initial coefficient estimates for $|a_2|$ and $|a_3|$. In particular, the results in this paper generalize or improve (in certain cases) the corresponding results obtained by recent researchers.

1. Introduction

Let \mathcal{A} indicate the class of functions f of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1.1)$$

which are analytic in the open unit disc $\mathbb{D} = \{z : |z| < 1\}$ and satisfy the conditions $f(0) = 0$, $f'(0) = 1$ for every $z \in \mathbb{D}$. Denote by \mathcal{S} the subclass of \mathcal{A} containing of all univalent functions. Let Ω be the class of Schwarz functions ϕ , which are analytic in \mathbb{D} satisfying the conditions $\phi(0) = 0$ and $|\phi(z)| < 1$ for all $z \in \mathbb{D}$. If f_1 and f_2 are analytic functions in \mathbb{D} , then we state f_1 is subordinate to f_2 , denoted by $f_1 \prec f_2$, if there exists a Schwarz function $\phi \in \Omega$ such that $f_1(z) = f_2(\phi(z))$ (see [1]).

According to the Koebe 1/4 Theorem [1], the range of \mathbb{D} under every function f in the univalent function class \mathcal{S} contains a disc $\{w : |w| < 1/4\}$ of radius 1/4. Thus, every univalent function f has an inverse f^{-1} satisfying the conditions

$$f^{-1}(f(z)) = z, \quad (z \in \mathbb{D})$$

and

$$f(f^{-1}(w)) = w, \quad (|w| < r_0(f); r_0(f) \geq 1/4),$$

where

$$f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4 + \dots$$

If both f and f^{-1} are univalent in \mathbb{D} , then a function $f \in \mathcal{A}$ is said to be bi-univalent in \mathbb{D} . The class of bi-univalent functions will be denoted by Σ in \mathbb{D} .

Not much is known about the bounds for $|a_n|$ of Faber polynomials in quantum calculus because the bi-univalence requirement makes the behaviour of the coefficients of the functions f and f^{-1} unpredictable. The quantum calculus has a great number of applications in the fields of special functions and other areas (see [2], [3]). There is a possibility to extend some of the results in quantum calculus to post quantum calculus in geometric function theory.

Let us first recall certain notations of the (p, q) -calculus. The (p, q) -twin-basic number $[n]_{p,q}$ is defined by

$$[n]_{p,q} = \frac{p^n - q^n}{p - q}, \quad (0 < q < p \leq 1, n = 0, 1, 2, \dots).$$

The (p, q) -derivative operator of a function f is given by

$$(D_{p,q}f)(z) = \frac{f(pz) - f(qz)}{(p - q)z}, \quad (z \neq 0) \quad (1.2)$$

and $(D_{p,q}f)(0) = f'(0)$ provided that the function f is differentiable at $z = 0$ (see [4]). For a function f given by (1.1), it can be easily concluded that

$$D_{p,q}f(z) = 1 + \sum_{n=2}^{\infty} [n]_{p,q} a_n z^{n-1}. \quad (1.3)$$

Note that, for $p = 1$, (p, q) -derivative operator reduces to the Jackson q -derivative ([5], [6]) given by

$$(D_q f)(z) = \frac{f(z) - f(qz)}{(1 - q)z}, \quad (z \neq 0). \quad (1.4)$$

Also, for $p = 1$, q -bracket $[n]_q$ is given by

$$[n]_q = \frac{1 - q^n}{1 - q}, \quad (n = 0, 1, 2, \dots).$$

In 1903, G. Faber [7] in his thesis, introduced the polynomials which have since proved useful in analysis, and hence are known as Faber polynomials. By using the Faber polynomial expansion of functions $f \in \mathcal{A}$, researchers in [8] got the following useful results.

Lemma 1.1. *If f is of the form (1.1), then the coefficients of its inverse functions $g = f^{-1}$ are given by*

$$g(w) = f^{-1}(w) = w + \sum_{n=2}^{\infty} \frac{1}{n} K_{n-1}^{-n}(a_2, a_3, \dots) w^n := w + \sum_{n=2}^{\infty} b_n w^n,$$

where

$$\begin{aligned} K_{n-1}^{-n} &= \frac{(-n)!}{(-2n+1)!(n-1)!} a_2^{n-1} + \frac{(-n)!}{(2(-n+1)!(n-3)!} a_2^{n-3} a_3 + \frac{(-n)!}{(-2n+3)!(n-4)!} a_2^{n-4} a_4 \\ &+ \frac{(-n)!}{(2(-n+2)!(n-5)!} a_2^{n-5} [a_5 + (-n+2)a_3^2] \\ &+ \frac{(-n)!}{(-2n+5)!(n-6)!} a_2^{n-6} [a_6 + (-2n+5)a_3 a_4] + \sum_{l \geq 7} a_2^{n-l} V_l \end{aligned}$$

such that V_l , $(7 \leq l \leq n)$ is a homogeneous polynomial in the variables a_2, a_3, \dots, a_n . The first three terms of K_{n-1}^{-n} are given below:

$$K_1^{-2} = -2a_2, \quad K_2^{-3} = 3(2a_2^2 - a_3), \quad K_3^{-4} = -4(5a_2^3 - 5a_2 a_3 + a_4).$$

Making use of (p, q) -derivative operator defined in (1.2), we define the class $\mathcal{A}_{\Sigma}(p, q; \lambda, \delta, A, B)$ as below:

Definition 1.2. *Let A and B be real numbers such that $-1 \leq B < A \leq 1$. For $0 < q < p \leq 1$, $\lambda \geq 1$, $\delta \geq 0$, a bi-univalent function $f \in \Sigma$ is said to be in $\mathcal{A}_{\Sigma}(p, q; \lambda, \delta, A, B)$ if*

$$(1 - \lambda) \frac{f(z)}{z} + \lambda (D_{p,q}f)(z) + \delta z D_{p,q}(D_{p,q}f)(z) \prec \frac{1 + Az}{1 + Bz}, \quad (z \in \mathbb{D}) \quad (1.5)$$

and

$$(1 - \lambda) \frac{g(w)}{w} + \lambda (D_{p,q}g)(w) + \delta w D_{p,q}(D_{p,q}g)(w) \prec \frac{1 + Aw}{1 + Bw}, \quad (w \in \mathbb{D}) \quad (1.6)$$

where $g(w) = f^{-1}(w)$ for $w \in \mathbb{D}$.

By taking different values of the parameters $p, q, \lambda, \delta, A, B$, we may obtain several new and known subclasses of the family $\mathcal{N}_\Sigma(p, q; \lambda, \delta, A, B)$; for instance we have

- (i) $\mathcal{G}_\Sigma(q; \lambda, \delta, A, B) \equiv \mathcal{N}_\Sigma(1, q; \lambda, \delta, A, B)$.
- (ii) $\mathcal{D}_\Sigma(p, q; \lambda, \frac{1+Az}{1+Bz}) \equiv \mathcal{N}_\Sigma(p, q; \lambda, 0, A, B)$.
- (iii) $\mathcal{R}_\Sigma(\lambda, \delta, \alpha) \equiv \mathcal{N}_\Sigma(1, 1; \lambda, \delta, 1 - 2\alpha, -1), (0 \leq \alpha < 1), [9]$.
- (iv) $\mathcal{F}_\Sigma(\lambda, \alpha) \equiv \mathcal{N}_\Sigma(1, 1; \lambda, 0, 1 - 2\alpha, -1), (0 \leq \alpha < 1), [10]$.
- (v) $\mathcal{H}_\Sigma(\alpha) \equiv \mathcal{N}_\Sigma(1, 1; 1, 0, 1 - 2\alpha, -1), (0 \leq \alpha < 1), [11]$.
- (vi) $\mathcal{M}_\Sigma(\delta, \alpha) \equiv \mathcal{N}_\Sigma(1, 1; 1, \delta, 1 - 2\alpha, -1), (0 \leq \alpha < 1), [12]$.

Remark 1.3. Note that the class $\mathcal{G}_\Sigma(q; \lambda, \delta, A, B)$ in (i) is a new generalized class of bi-univalent functions defined by $D_q = \lim_{p \rightarrow 1} D_{p,q}$ given in (1.4).

Remark 1.4. The class $\mathcal{D}_\Sigma(p, q; \lambda, \frac{1+Az}{1+Bz})$ in (ii) may be obtained by letting $\varphi = \frac{1+Az}{1+Bz}$ in the class $\mathcal{D}_\Sigma(p, q; \lambda, \varphi)$ which was studied in 2017 by Altinkaya and Yalçın [13]. The results in our paper improve the estimates of the corresponding bounds in [13]. Similarly, our results are also better than those determined in [11].

In view of the relations witnessed in (i) to (vi) and Remarks 1.3 and 1.4, we conclude that the generalized class $\mathcal{N}_\Sigma(p, q; \lambda, \delta, A, B)$ unifies several subclasses of Σ .

2. Main results

We first give coefficient estimates of a function f in the class $\mathcal{N}_\Sigma(p, q; \lambda, \delta, A, B)$ for all the coefficients except for the first initial coefficients a_2 and a_3 .

Theorem 2.1. For $0 < q < p \leq 1, \delta \geq 0, \lambda \geq 1, -1 \leq B < A \leq 1$, let the function f given by (1.1) be in the class $\mathcal{N}_\Sigma(p, q; \lambda, \delta, A, B)$. If $a_m = 0, (2 \leq m \leq n - 1)$, then

$$|a_n| \leq \frac{A - B}{|1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n - 1]_{p,q}\delta|}, \quad (n \geq 4). \tag{2.1}$$

Proof. If a function f given by (1.1) is in $\mathcal{N}_\Sigma(p, q; \lambda, \delta, A, B)$, then by using (1.2) and (1.3), the left side of (1.5) gives

$$(1 - \lambda) \frac{f(z)}{z} + \lambda(D_{p,q}f)(z) + \delta z D_{p,q}(D_{p,q}f)(z) = 1 + \sum_{n=2}^{\infty} [1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n - 1]_{p,q}\delta] a_n z^{n-1}. \tag{2.2}$$

In view of (1.2), (1.3) and Lemma 1.1, the left side of (1.6) yields

$$\begin{aligned} & (1 - \lambda) \frac{g(w)}{w} + \lambda(D_{p,q}g)(w) + \delta w D_{p,q}(D_{p,q}g)(w) \\ &= 1 + \sum_{n=2}^{\infty} [1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n - 1]_{p,q}\delta] b_n w^{n-1} \\ &= 1 + \sum_{n=2}^{\infty} [1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n - 1]_{p,q}\delta] \times \frac{1}{n} K_{n-1}^{-n}(a_2, a_3, \dots, a_n) w^{n-1}, \end{aligned} \tag{2.3}$$

where $K_{n-1}^{-n}(a_2, a_3, \dots, a_n)$ are given in Lemma 1.1.

On the other hand, (1.5) and (1.6) imply the existence of two Schwarz functions $\phi(z) = \sum_{n=1}^{\infty} c_n z^n, (z \in \mathbb{D})$ and $\psi(w) = \sum_{n=1}^{\infty} d_n w^n, (w \in \mathbb{D})$ so that

$$(1 - \lambda) \frac{f(z)}{z} + \lambda(D_{p,q}f)(z) + \delta z D_{p,q}(D_{p,q}f)(z) = \frac{1 + A\phi(z)}{1 + B\phi(z)} \tag{2.4}$$

and

$$(1 - \lambda) \frac{g(w)}{w} + \lambda(D_{p,q}g)(w) + \delta w D_{p,q}(D_{p,q}g)(w) = \frac{1 + A\psi(w)}{1 + B\psi(w)}. \tag{2.5}$$

Moreover, by using the method given in [8] and [14], Jahangiri and Hamidi in [15] observed that

$$\frac{1 + A\phi(z)}{1 + B\phi(z)} = 1 - \sum_{n=1}^{\infty} (A - B) K_n^{-1}(c_1, c_2, \dots, c_n, B) z^n, \tag{2.6}$$

and

$$\frac{1 + A\psi(w)}{1 + B\psi(w)} = 1 - \sum_{n=1}^{\infty} (A - B) K_n^{-1}(d_1, d_2, \dots, d_n, B) w^n, \tag{2.7}$$

where $K_n^{-1}(k_1, k_2, \dots, k_n, B)$ are obtained by the general coefficients $K_n^j(k_1, k_2, \dots, k_n, B)$ for all $j \in \mathbb{Z}$ given by

$$\begin{aligned} K_n^j(k_1, k_2, \dots, k_n, B) &= \frac{j!}{(j-n)!(n)!} k_1^n B^{n-1} + \frac{j!}{(j-n+1)!(n-2)!} k_1^{n-2} k_2 B^{n-2} \\ &+ \frac{j!}{(j-n+2)!(n-3)!} k_1^{n-3} k_3 B^{n-3} \\ &+ \frac{j!}{(j-n+3)!(n-4)!} k_1^{n-4} [k_4 B^{n-4} + \frac{j-n+3}{2} k_3^2 B] \\ &+ \frac{j!}{(j-n+4)!(n-5)!} k_1^{n-5} [k_5 B^{n-5} + (j-n+4)k_3 k_4 B] + \sum_{j \geq 6} k_1^{n-j} V_j, \end{aligned}$$

and where V_j is a homogeneous polynomial of degree j in the variables k_2, k_3, \dots, k_n ; (see [8], [14], [15]).

In view of (2.2), (2.4) and (2.6), for every $n \geq 2$, we get

$$[1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n-1]_{p,q}\delta]a_n = -(A-B)K_{n-1}^{-1}(c_1, c_2, \dots, c_{n-1}, B). \quad (2.8)$$

Similarly, because of (2.3), (2.5) and (2.7), for every $n \geq 2$, we have

$$[1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n-1]_{p,q}\delta]b_n = -(A-B)K_{n-1}^{-1}(d_1, d_2, \dots, d_{n-1}, B). \quad (2.9)$$

Since $a_m = 0$ for $2 \leq m \leq n-1$, we have $b_n = -a_n$ and thus,

$$[1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n-1]_{p,q}\delta]a_n = -(A-B)c_{n-1},$$

$$-[1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n-1]_{p,q}\delta]a_n = -(A-B)d_{n-1}.$$

Recall that for the Schwarz functions ϕ and ψ , we have $|c_{n-1}| \leq 1$ and $|d_{n-1}| \leq 1$ (see [1]). Taking absolute values of the last two equalities and using $|c_{n-1}| \leq 1$ and $|d_{n-1}| \leq 1$, we obtain

$$|a_n| = \frac{(A-B)|c_{n-1}|}{|1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n-1]_{p,q}\delta|} = \frac{(A-B)|d_{n-1}|}{|1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n-1]_{p,q}\delta|},$$

thus we arrive at

$$|a_n| \leq \frac{A-B}{|1 + ([n]_{p,q} - 1)\lambda + [n]_{p,q}[n-1]_{p,q}\delta|}.$$

This completes the proof. \square

Setting $p = 1$ in (2.1) and using (i), we get the q -coefficient bounds of the Faber polynomials of the class $\mathcal{F}_\Sigma(q; \lambda, \delta, A, B)$.

Corollary 2.2. Let $q \in (0, 1)$, $\delta \geq 0$, $\lambda \geq 1$ and $-1 \leq B < A \leq 1$. If $f \in \mathcal{F}_\Sigma(q; \lambda, \delta, A, B)$ and $a_m = 0$, ($2 \leq m \leq n-1$), then

$$|a_n| \leq \frac{A-B}{|1 + ([n]_q - 1)\lambda + [n]_q[n-1]_q\delta|}, \quad (n \geq 4).$$

Setting $\delta = 0$ in (2.1) and in view of (ii) together with Remark 1.4, we get the following:

Corollary 2.3. If $f \in \mathcal{D}_\Sigma(p, q; \lambda, \frac{1+A\lambda}{1+B\lambda})$ and $a_m = 0$, ($2 \leq m \leq n-1$), then

$$|a_n| \leq \frac{A-B}{|1 + ([n]_{p,q} - 1)\lambda|}, \quad (n \geq 4).$$

Remark 2.4. In [13], the authors found that if $f \in \mathcal{D}_\Sigma(p, q; \lambda, \varphi)$ and $a_m = 0$, ($2 \leq m \leq n-1$), then

$$|a_n| \leq \frac{2}{|1 + ([n]_{p,q} - 1)\lambda|}, \quad (n \geq 4). \quad (2.10)$$

However, we find that the coefficient estimates in Corollary 2.3 further improve the estimates in (2.10) because

$$|a_n| \leq \frac{A-B}{|1 + ([n]_{p,q} - 1)\lambda|} \leq \frac{2}{|1 + ([n]_{p,q} - 1)\lambda|}, \quad (n \geq 4)$$

for all $\lambda \geq 1$, $-1 \leq B < A \leq 1$, (see [13]).

In view of (iii), Theorem 2.1 gives the next corollary:

Corollary 2.5. [9] Let $\lambda \geq 1, \delta \geq 0, 0 \leq \alpha < 1$. If $f \in \mathcal{R}_\Sigma(\lambda, \delta, \alpha)$ and $a_m = 0, (2 \leq m \leq n - 1)$, then

$$|a_n| \leq \frac{2(1 - \alpha)}{1 + (n - 1)\lambda + n(n - 1)\delta}, \quad (n \geq 4).$$

Since $\mathcal{F}_\Sigma(\lambda, \alpha) \equiv \mathcal{N}_\Sigma(1, 1; \lambda, 0, 1 - 2\alpha, -1)$ by (iv), Theorem 2.1 gives the next result:

Corollary 2.6. [16] Let $\lambda \geq 1, 0 \leq \alpha < 1$ and $a_m = 0, (2 \leq m \leq n - 1)$. If $f \in \mathcal{F}_\Sigma(\lambda, \alpha)$, then

$$|a_n| \leq \frac{2(1 - \alpha)}{1 + (n - 1)\lambda}, \quad (n \geq 4).$$

Remark 2.7. In view of (vi), if $f \in \mathcal{M}_\Sigma(\delta, \alpha)$, then we get corresponding result obtained in [12].

For the next theorem, we need the following lemma.

Lemma 2.8. [15] Let $\phi(z) = \sum_{n=1}^\infty c_n z^n$ be a Schwarz function satisfying $|\phi(z)| < 1$ for $|z| < 1$. If $\gamma \geq 0$, then

$$|c_2 + \gamma c_1^2| \leq 1 + (\gamma - 1)|c_1|^2.$$

Theorem 2.9. For $0 < q < p \leq 1, \delta \geq 0, \lambda \geq 1, -1 \leq B \leq A \leq 1$, let the function f given by (1.1) be in the class $\mathcal{N}_\Sigma(p, q; \lambda, \delta, A, B)$. If

$$t = [3]_{p,q} = p^2 + pq + q^2 \tag{2.11}$$

$$\mu = [2]_{p,q} = p + q,$$

then

$$|a_2| \leq \min \begin{cases} \frac{A - B}{\sqrt{|(A - B)[1 + (t - 1)\lambda + t\mu\delta] + (1 + B)[1 + (\mu - 1)\lambda + \mu\delta]^2|}}, & B \leq 0 \\ \frac{A - B}{|1 + (\mu - 1)\lambda + \mu\delta|}, \end{cases} \tag{2.12}$$

$$|a_3| \leq \frac{(A - B)^2}{[1 + (\mu - 1)\lambda + \mu\delta]^2} + \frac{A - B}{|1 + (t - 1)\lambda + t\mu\delta|} \tag{2.13}$$

and

$$|a_3 - 2a_2^2| \leq \frac{(A - B) \left[1 - (1 + B) \frac{(1 + (\mu - 1)\lambda + \mu\delta)^2 |a_2|^2}{(A - B)^2} \right]}{|1 + (t - 1)\lambda + t\mu\delta|} \quad (B \leq 0). \tag{2.14}$$

These results are sharp.

Proof. Upon setting 2 in place of n in (2.8), we obtain

$$[1 + ([2]_{p,q} - 1)\lambda + [2]_{p,q}\delta]a_2 = (A - B)K_1^{-1}(c_1) = -(A - B)c_1. \tag{2.15}$$

Again, replacing $n = 3$ in (2.8), we have

$$[1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta]a_3 = (A - B)K_2^{-1}(c_2) = -(A - B)(Bc_1^2 - c_2). \tag{2.16}$$

Similarly, by substituting $n = 2$ and $n = 3$, respectively in (2.9), we observe

$$-[1 + ([2]_{p,q} - 1)\lambda + [2]_{p,q}\delta]a_2 = -(A - B)d_1, \tag{2.17}$$

and

$$[1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta](2a_2^2 - a_3) = -(A - B)(Bd_1^2 - d_2). \tag{2.18}$$

Using $|c_1| \leq 1$ and $|d_1| \leq 1$, it follows from (2.15) and (2.17) that $c_1 = -d_1$ and

$$|a_2| = \frac{(A-B)|c_1|}{|1 + ([2]_{p,q} - 1)\lambda + [2]_{p,q}\delta|} = \frac{(A-B)|d_1|}{|1 + ([2]_{p,q} - 1)\lambda + [2]_{p,q}\delta|},$$

then we get

$$|a_2| \leq \frac{A-B}{|1 + (\mu - 1)\lambda + \mu\delta|},$$

where μ is given by (2.11) and for $-1 \leq B \leq A \leq 1$.

Adding (2.16) to (2.18), and simple calculations gives

$$2[1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta]a_2^2 = (A-B)(c_2 + (-B)c_1^2 + d_2 + (-B)d_1^2).$$

Taking absolute values of both sides, we get

$$|2[1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta]||a_2|^2 \leq (A-B)[|c_2 + (-B)c_1^2| + |d_2 + (-B)d_1^2|].$$

If $B \leq 0$, then by Lemma 2.8 we have

$$2|1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta||a_2|^2 \leq (A-B)[2 - (B+1)(|c_1|^2 + |d_1|^2)].$$

Upon substituting c_1 and d_1 from (2.15) and (2.17), we obtain

$$2|1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta||a_2|^2 \leq (A-B) \left[2 - 2(B+1) \frac{\left(1 + ([2]_{p,q} - 1)\lambda + [2]_{p,q}\delta\right)^2 |a_2|^2}{(A-B)^2} \right],$$

or equivalently

$$|a_2| \leq \frac{A-B}{\sqrt{|(A-B)(1 + (t-1)\lambda + t\mu\delta) + (1+B)(1 + (\mu-1)\lambda + \mu\delta)|}},$$

where t and μ are given by (2.11). This completes the proof of (2.12).

In order to obtain the coefficient estimates for $|a_3|$, we subtract (2.18) from (2.16), and we get

$$[1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta](-2a_2^2 + 2a_3) = -(A-B) \left[(Bc_1^2 - c_2) - (Bd_1^2 - d_2) \right],$$

or

$$a_3 = a_2^2 + \frac{(A-B)(c_2 - d_2)}{2[1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta]}. \quad (2.19)$$

Upon substituting the value of a_2^2 from (2.15) into (2.19), it follows that

$$a_3 = \frac{(A-B)^2 c_1^2}{(1 + ([2]_{p,q} - 1)\lambda + [2]_{p,q}\delta)^2} + \frac{(A-B)(c_2 - d_2)}{2[1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta]}.$$

Taking the absolute value and by using $|c_1| \leq 1$, $|c_2| \leq 1$ and $|d_2| \leq 1$, we get

$$|a_3| \leq \frac{(A-B)^2}{(1 + (\mu-1)\lambda + \mu\delta)^2} + \frac{A-B}{|1 + (t-1)\lambda + t\mu\delta|},$$

where t and μ are given by (2.11). This proves the inequality in (2.13).

Finally, (2.18) yields

$$2a_2^2 - a_3 = \frac{(A-B)(d_2 + (-B)d_1^2)}{1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta}.$$

By taking the absolute value of the above equation, we find

$$|a_3 - 2a_2^2| \leq \frac{(A-B)|d_2 + (-B)d_1^2|}{|1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta|}.$$

If $B \leq 0$, then by Lemma 2.8 we have

$$|a_3 - 2a_2^2| \leq \frac{(A - B)(1 + (-B - 1)|d_1|^2)}{|1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta|}.$$

Upon substituting the value of d_1 from (2.17), we get

$$|a_3 - 2a_2^2| \leq \frac{(A - B) \left(1 - (1 + B) \frac{(1 + ([2]_{p,q} - 1)\lambda + [2]_{p,q}\delta)^2 |a_2|^2}{(A - B)^2} \right)}{|1 + ([3]_{p,q} - 1)\lambda + [3]_{p,q}[2]_{p,q}\delta|}.$$

This proves the inequality given by (2.14). □

In view of (i) and (ii), Theorem 2.9 leads to the following corollaries.

Corollary 2.10. Let $q \in (0, 1), \lambda \geq 1, \delta \geq 0$ and $-1 \leq B < A \leq 1$. If $f \in \mathcal{G}_\Sigma(q; \lambda, \delta, A, B)$ and $a_m = 0, (2 \leq m \leq n - 1)$, then

$$|a_2| \leq \min \left\{ \begin{array}{l} \frac{A - B}{\sqrt{|(A - B)[1 + (q + q^2)\lambda + (1 + q + q^2)(1 + q)\delta] + (1 + B)[1 + q\lambda + (1 + q)\delta]^2|}}, \quad B \leq 0 \\ \frac{A - B}{1 + q\lambda + (1 + q)\delta}, \end{array} \right.$$

$$|a_3| \leq \frac{(A - B)^2}{(1 + q\lambda + (1 + q)\delta)^2} + \frac{A - B}{1 + (q + q^2)\lambda + (1 + q + q^2)(1 + q)\delta}$$

and

$$|a_3 - 2a_2^2| \leq \frac{(A - B) \left[1 - (1 + B) \frac{[1 + q\lambda + (1 + q)\delta]^2 |a_2|^2}{(A - B)^2} \right]}{1 + (q + q^2)\lambda + (1 + q + q^2)(1 + q)\delta} \quad (B \leq 0).$$

Corollary 2.11. Let $0 < q < p \leq 1, \lambda \geq 1, -1 \leq B < A \leq 1$. If $f \in \mathcal{D}_\Sigma(p, q; \lambda, \frac{1+Aq}{1+Bq})$ and $a_m = 0, (2 \leq m \leq n - 1)$, then

$$|a_2| \leq \min \left\{ \frac{A - B}{|1 + (p + q - 1)\lambda|}, \frac{A - B}{\sqrt{|(A - B)[1 + (p^2 + pq + q^2 - 1)\lambda] + (1 + B)[1 + (p^2 + pq + q^2 - 1)\lambda]^2|}} \right\},$$

$$|a_3| \leq \frac{(A - B)^2}{(1 + (p + q - 1)\lambda)^2} + \frac{A - B}{|1 + (p^2 + pq + q^2 - 1)\lambda|}.$$

Remark 2.12. Let $\lambda \geq 1, \delta \geq 0, 0 \leq \alpha < 1$. If $f \in \mathcal{R}_\Sigma(\lambda, \delta, \alpha)$ and $a_m = 0, (2 \leq m \leq n - 1)$, then Theorem 2.9 yields the corresponding results obtained in [9] for coefficients a_2, a_3 and $a_3 - 2a_2^2$.

Remark 2.13. Let $\lambda \geq 1, 0 \leq \alpha < 1$. If $f \in \mathcal{F}_\Sigma(\lambda, \alpha)$ and $a_m = 0, (2 \leq m \leq n - 1)$, then Theorem 2.9 satisfies the corresponding results obtained in [16] for coefficients a_2 and $a_3 - 2a_2^2$.

Remark 2.14. Setting $p = 1, q \rightarrow 1^-, A = 1 - 2\alpha, (0 \leq \alpha < 1), B = -1$ and $\delta = 0$, Theorem 2.9 yields the corresponding results in [10] for coefficients a_2 and a_3 .

Remark 2.15. Setting $p = 1, q \rightarrow 1^-, A = 1 - 2\alpha, (0 \leq \alpha < 1), B = -1, \delta = 0$ and $\lambda = 1$, Theorem 2.9 yields the corresponding results in [11] for coefficient a_2 .

3. Conclusion

In this paper, we defined a new subclass of bi-univalent functions associated with (p, q) -derivative operator and investigated Faber polynomial coefficient estimates for this new class. We also concluded that the results are generalization of the corresponding results obtained by recent researchers.

References

- [1] P. L. Duren, *Univalent Functions*, Grundlehren der Mathematischen Wissenschaften, 259, Springer, New York, 1983.
- [2] G. Gasper, M. Rahman, *Basic Hypergeometric Series*, Cambridge University Press, 2004.
- [3] V. Kac, P. Cheung, *Quantum Calculus*, Springer-Verlag, New York, 2002.
- [4] R. Chakrabarti, R. Jagannathan, A (p, q) -oscillator realization of two parameter quantum algebras, *J. Phys. A*, **24** (1991), 711-718.
- [5] F. H. Jackson, *On q -functions and a certain difference operator*, *Trans. Royal Soc. Edinburgh*, **46** (1909), 253-281.
- [6] F. H. Jackson, *q -difference equations*, *Amer. J. Math.*, **32**(4) (1910), 305-314.
- [7] G. Faber, *Über polynomische Entwicklungen*, *Math. Annalen*, **57** (1903), 385-408.
- [8] H. Airault, H. Bouali, *Differential calculus on the Faber polynomials*, *Bull. Sci. Math.*, **130** (2006), 179-222.
- [9] S. Bulut, *Faber polynomial coefficient estimates for a subclass of analytic bi-univalent functions*, *Filomat*, **30**(6) (2016), 1567-1575.
- [10] B. A. Frasin, M. K. Aouf, *New subclasses of bi-univalent functions*, *Appl. Math. Lett.*, **24** (2011), 1569-1573.
- [11] H. M. Srivastava, A. Mishra, P. Gochhayat, *Certain subclasses of analytic and bi-univalent functions*, *Appl. Math. Lett.*, **23** (2010), 1188-1192.
- [12] H. M. Srivastava, S. S. Eker, R. M. Ali, *Coefficient bounds for a certain class of analytic and bi-univalent functions*, *Filomat*, **29** (2015), 1839-1845.
- [13] Ş. Altunkaya, S. Yalçın, *Faber polynomial coefficient estimates for certain classes of bi-univalent functions defined by using the Jackson (p, q) -derivative operator*, *J. Nonlinear Sci. Appl.*, **10** (2017), 3067-3074.
- [14] H. Airault, *Remarks on Faber polynomials*, *Int. Math. Forum*, **3**(9) (2008), 449-456.
- [15] S. G. Hamidi, J. M. Jahangiri, *Faber polynomial coefficients bi-subordinate functions*, *C. R. Acad. Sci. Paris, Ser I*, **354** (2016), 365-370.
- [16] J. M. Jahangiri, S. G. Hamidi, *Coefficient estimates for certain classes of bi-univalent functions*, *Int. J. Math. Math. Sci.*, **2013** (2013), 1-4. Article ID 190560.